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1= k"jf{wf/ ljsf; ;ldlt  

kb gfd, y/ 

;+of]hs >L cd[sf anfdL 

;b:o >L u+uf gu/sf]^L  

;b:o >L ;f]lkmof ;'gfd 

;b:o >L df]xg v*\sf 

;b:o >L s'df/ anfdL 

;b:o >L ;fg' afa' >]i&  

;b:o >L piff b'nfn 

 2= cfly{s ljsf; ;ldlt  

kb gfd, y/ 

;+of]hs >L k'is/ v*\sf 

;b:o >L lgd{nf lj=s= 

;b:o >L dx]z tfdf~ 

;b:o >L ;fljqL lji^ 

;b:o >L ;'ldqf s]=;L= 

;b:o >L dgf]h a:g]t 

;b:o >L ldgf kl/of/ 

 3= jftfj/)f tyf ljkb Joj:yfkg ;ldlt  

kb gfd, y/ 

;+of]hs >L Zofd axfb'/ vqL  

;b:o >L /]S;g tfdf~ 

;b:o >L a'$/Tg anfdL  

;b:o >L k|ldnf kl/of/ 

;b:o >L gj/fh gu/sf]^L 

;b:o >L b]jnIdL >]i& 

;b:o >L /fdrGb| If]qL 



 4= ;fj{hlgs ;]jf tyf Ifdtf ljsf; ;ldlt  

kb gfd, y/ 

;+of]hs >L x/L k|;fb ltdn;]gf 

;b:o >L s)f{ axfb'/ >]i& 

;b:o >L kfj{tL af:tf]nf 

;b:o >L /fhg cfrfo{ 

;b:o >L dbg dxh{g 

;b:o >L ldgf du/ 

;b:o >L ho yfkf du/ 

 5= ;fdflhs ljsf; ;ldlt  

kb gfd, y/ 

;+of]hs >L /fh]z kl/of/ 

;b:o >L /fh' clwsf/L  

;b:o >L uf}/L g]jfM 

;b:o >L /df kx/L 

;b:o >L zld{nf ;'j]bL 

;b:o >L piff b]pnf 

;b:o >L sdnf tfdf~ 

 6= ljwo]s ;ldlt  

kb gfd, y/ 

;+of]hs >L z+s/dfg dxh{g 

;b:o >L ljqmd tfdf~ 

;b:o >L ;/f]h s]=;L= 

;b:o >L s[i)fsnL bgf{n 

;b:o >L dx]z tfdf~ 

;b:o >L dbg dxh{g 

;b:o >L zld{nf ;'j]bL 




